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1. A ladder reaches a window which is 15 meters above the ground on one side of the street.
Keeping its foot at the same point, the ladder is turned to the other side of the street to reach a
window 8 meter high. Find the width of the street, if the length of the ladder is 17 meters.

2. In the given diagram, AB = 3CD = 18 cm and 3BP = 4CP = 36 cm. show that the measure of
angle APD is 90°

3. In the given figure; AD is perpendicular to BC produced. Prove that:  c2=a2 + b2 + 2ax

4. M and N are points on sides QR and PQ respectively of a ᇞPQR, right-angled at Q. prove that:
PM2 + RN2 = PR2 + MN2 

5. In triangle  ABC, ∠ACB =90°, AB =c unit, BC = a unit, AC=b unit, CD is perpendicular  to AB
and CD = p unit.

Prove that : 
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6. ABC is an equilateral triangle, P is a point in BC such that  BP: PC = 2 : 1.

Prove that : 9 AP2 = 7 AB2 

7. The given figure shows a triangle ABC, in which AB ൐AC. E is the mid-point  of BC and AD is
perpendicular to BC.

 Prove that: AB2- AC2 = 2BC x ED 

8. ABC is an isosceles triangle in which AB = AC = 20cm and BC = 24cm . PQRS is a rectangle
drawn inside the isosceles triangle. Given PQ = SR = y cm and PS =QR =2x cm.

Prove that : y= 16 - 
ସ௫

ଷ

9. Prove that the sum  of the squares on the diagonals of a parallelogram is equal to the sum of the
squares on its sides.
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